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Řešení – sada diagramů č. 21a 

Diagram 1) 1.Dxa6+ Kb8 2.Dxb7# 

Diagram 2) 1.e7+ Dxe7 2.Dh8# 

Diagram 3) 1.Dg5+ Kf8 (Kh8) 2.Dg7# 

Diagram 4) 1…Vc1+ 2.Sf1 (2.Vf1 Dxg2#) 2…Dh1# 

Diagram 5) 1…g5+ 2.Kxh5 Dxh3# 

Diagram 6) 1.Vxh7+ Kxh7 2.Jf6#  

Diagram 7) 1.Sf4 b2 2.Sc1 ½   

Diagram 8) 1.Vh7 Vxa7 2.Vh7+ 1-0 

Diagram 9) 1.f8J (1.Dh5+? Sh7+) 1…S∞ 2.Dh7#  

Diagram 10) 1.De1 Sa2 (1…Ka2 2.Da5#) 2.Dc3# 

 

Řešení – sada diagramů č. 21b 

Diagram 1) 1…g5+ 2.Kxh5 Dxh3# 

Diagram 2) 1.Vxh7+ Kxh7 2.Jf6# 

Diagram 3) 1.Kc4 a1D 2.Kb3 1-0 

Diagram 4) 1.Sf4 b2 2.Sc1 ½   

Diagram 5) 1.Vd8+ Kh7 2.f6+ g6 3.Vh8+ Kxh8 4.De8+ Kh7 5.Dxf7+ Kh8 6.Dg7# 

Diagram 6) 1.Jg5+ hxg5 2.Vh3+ Kg6 3.Vh6+ Kxh6 (3…gxh6 4.Dg8#) 4.Dh8+ Kg6 5.Dh5#  

Diagram 7) 1.f8J (1.Dh5+? Sh7+) 1…S∞ 2.Dh7# 

Diagram 8) 1.De1 Sa2 (1…Ka2 2.Da5#) 2.Dc3# 

Diagram 9) 1.Kc5 c6 2.Kc4 c5 3.Da1# 

Diagram 10) 1.Ve1 Kg1 (1…g2 2.Se2+ g1D 3.Sf3#) 2.Sh3+ Kf2 3.Vf1# 

 

Řešení – sada diagramů č. 21c 

Diagram 1) 1.Dc3# 

Diagram 2) 1.Se7# 

Diagram 3) 1.Jf7# 

Diagram 4) 1.Jg5# 

Diagram 5) 1…gxh1J# 
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Diagram 6) 1…Dxh3# 

Diagram 7) 1.Jf6+ Kh8 (Kh6) 2.Vh1# 

Diagram 8) 1.Kd6 opozice 1-0 

Diagram 9) 1.Vxh7+ Kxh7 2.Jf6# 

Diagram 10) 1…g5+ 2.Kxh5 Dxh3# 


